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10.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

Define Pipelining and super scalar operations.

State the use of condition code flags in Processor’s operation.

Show the simplified logic network used for Binary addition/subtraction.
Distinguish Restoring and Non restoring division.

Give the control sequence for unconditional branch instructions.

Why ‘Wait for memory function completed’ step is needed for read or write
operation with main memory?

- What is the use of aging register?

What are the two main parameters to characterize the performance of a
dynamic memory?

‘What is a RISC processor? Mention its applications.

How is Program controlled I/O performed using polling?
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PART B — (5 x 16 = 80 marks)

Explain the suitable addressing modes useful in dealing with lists
and arrays. 8
Explain in detail the instruction execution and straight line

sequencing. (8)

Or
Describe the subroutine execution and subroutine nesting (8)

Explain the method of encoding of machine instructions in a
(8)

processor.

Show and Explain the sequential binary multiplier circuit. 8)
Describe the twe techniques used for speeding up the multiplication

operation. 8)

Or

List the rules used for floating point operations and Explain the
floating point addition/subtraction unit. (12)

Show that Cn @ Cn-1 is a correct indication of overflow in the 2's

complement addition of integers using truth table. 4)

Explain the Hardwired control unit organization and generation of
control signals. 8)

Explain vertical and horizontal microinstruction formats and

compare the relative merits and demerits. 8)
Or

Discuss about the modified data path organization used for

pipelined execution. 8

Discuss in detail the Instruction Hazards. ®
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Explain the Associate and Set Associative mapping used in cache
memory. T (8
A byte-addressable computer has a data cache capable of holding
eight 32-bit words. Each cache block consists of one 32-bit word.
When a given program is executed, the processor reads data from
the following sequence of hex addresses: 200, 204, 208, 20C, 2F4,
9F0, 200, 204, 218, 21C, 24C, 2F4 and this pattern is repeated for
four times. Show the contents of the cache at the end of each pass
through this loop if a direct mapping cache is used. Compute the hit

rate. Assume that the cache is initially empty. )
Or
Discuss the functions of Secondary Storage Devices. 6)

A disk unit has 24 recording surfaces. It has a total of 14,000
cylinders. There are 400 sectors per track. Each sector contains 512

bytes of data. (10)
(1) What is the maximum number of bytes that can be stored in
this unit?

(2) What is the data transfer rate in bytes per second at a
rotational speed of 7200 rpm?

(3) Using a 32-bit word, suggest a suitable scheme for specifying
the disks address, assuming that there are 512 bytes per
sector.

What are standard /O interfaces? State the need for Standard VO
interfaces. Explain in detail the operation, signals and arbitration SCSI

bus.

i)

(ii)

(16)

Or

Explain the use of DMA access in a computer system. Explain the
different modes of DMA transfer. Justify that DMA method is used

for high speed devices. 12)
Write about the important features of CISC processors. )




